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’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5384 73.07| #h L4t | 000 ~ 584 1.92 10.26 s 1.00f 500 ~ 7.01 73.07| =4t | 500 ~ 7.01| 1.92 10.26
9 100kN/mM##BZ 5 -l -~ - -|3mEBZ 5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 555 69.26| Zh L4t |0.00 ~ 555 2.16 11.58 s 1.00f 500 ~ 8.38 69.26) =hLlst | 500 ~ 838 2.16 11.58
3 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5.65 70.54| Fh L4t | 000 ~ 565 2.08 11.15 s 1.00f 500 ~ 7.79 70.54 Fh L4t | 500 ~ 7.79| 2.08 11.15
4 100kN/mM%#BZ % -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 3.63 45.75| =xnLst | 000 ~ 3.63| 2.38 12.74 s 1.00f 500 ~ 6.66 45.75| =nkst | 500 ~ 6.66] 2.38 12.74
5 100kN/m##8 %% 1.00{0.00 ~ 247 138.74| 3m%x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.62 ~ 20.80 138.74| 3m%x#B 25 -~ - - -
s 1.00] 247 ~ 10.26 100.00f Z=hki4t+ | 0.00 ~ 10.26] 2.79 14.94 s 1.00f 5.00 ~ 10.62 100.00f Z=hkl4t+ | 5.00 ~ 20.80] 2.79 14.94
6 100kN/m##8 %% 1.00{0.00 ~ 235 136.63| 3m%x#B2x 5 -~ - - —| 100kN/mM%#B % % 1.00{ 10.76 ~ 20.05 136.63| 3m%x#B 25 -~ - - -
s 1.00]2.35 ~ 10.13 100.00f Z=hki4t |0.00 ~ 10.13] 2.85 15.23 s 1.00f 5.00 ~ 10.76 100.00f Z=hkl4t+ | 5.00 ~ 20.05| 2.85 15.23
7 100kN/m##8 %% 1.00{0.00 ~ 0.72 110.77| 3m%x#B 25 -~ - - —| 100kN/mM%#8Z % 1.00{ 10.94 ~ 13.03 110.77| 3m%x#B 25 -~ - - -
s 1.00]0.72 ~ 8.51 100.00f Zhkl9t |0.00 ~ 8.51| 2.34 12.51 s 1.00f 500 ~ 10.94 100.00| Z=hl4+ | 5.00 ~ 13.03] 2.34 12.51
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~ |
=EFR



